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FIELD OVERHEAD EXAMPLE

TASK:  Find field overhead allowance for a modification to a $10 million, 20-month construction project.

  1)  With no time extension.

  2)  With time extension.

GIVEN:  Field Office Budget (included in original bid or contract proposal):

     Mobilization
$  120,000

     De-mobilization
    40,000

     Project Manager
    80,000

     Quality Control Staff
   120,000

     Safety Manager
    60,000

     Payroll Tax/Insurance
    78,000

     Supplies
    20,000

     Office Rent
    40,000

     Miscellaneous
    12,000
                    Total
$  570,000

     Direct Cost:  $8,150,000

  Placement Schedule (Direct Cost)

     Month
      Cost
       2
$  160,000

       4
   410,000

       6
   820,000

       8
 1,630,000

       10
 3,260,000

       12
 5,380,000

       14
 6,930,000

       16
 7,740,000

       18
 7,990,000

       20
 8,150,000

(Field Overhead Example Continued)

Assume now that four months into the project it is necessary to make a major modification.  The contractor has submitted with its cost or pricing data the following actual costs to date and proposed field overhead rate:

       Item
 Cost to Date
     Mobilization
$  120,000

     Salaries
    52,000

     Payroll Tax/Insurance
    15,000

     Rent
     8,000

     Misc & Supplies
     4,400

$  208,000

     Direct Cost to Date:
$  410,000

     Proposed Field Overhead Rate:   $208,000/$410,000 = 50.7%

Solution:

  1)  Analyze each indirect cost element by behavioral category:

      o
Variable (proportional to amount of work, not time related).

      o  Fixed (time related, not related to volume of work).

      o  One-time (sunk costs, non-recurring).

      o  Semi-variable (exhibits more than one of the above types of behavior - analyze each part separately).

  2)  Analyze each element as to reasonableness, cost trends, correlation to remaining work (e.g., if only 40% of original QC staff or field office staff necessary for the period of time extension delay, reduce salaries, etc.).

    Analysis:           Four Months Costs Segregated by Type Behavior
  
  Fixed  Variable  One-Time  Semi-Variable
    Mobilization
                   $120,000

    Salaries
 $52,000

    Payroll Tax/Insurance  15,000

    Rent
   8,000

    Misc & Supplies
          $ 4,400                      
  
 $75,000  $ 4,400  $120,000    $      0

    o  Direct Cost to Date:  $410,000

    o  Salaries are running on-schedule and consistent with as-bid conditions.  Miscellaneous and supplies are fairly consistent with budget.

Conclusion:

    1)  Field overhead with no time extension:

           $  4,400  x 100% = 1.07%       Say 1.1% of direct costs.

           $410,000

    2)  Field overhead with compensable time extension:

        o  Allow 1.1% of direct costs.  Also allow extended field overhead

           for the compensable portion of the time extension.

        o  Extended field Overhead = $18,750 x 1 month = $625/day

  
 1 month
 30 days

        o  Allow 1.1% of direct costs plus $625/day time extension for field                     overhead.

 NOTE:  "Compensable" means that the Government is exclusively responsible for the time extension, after deducting concurrent delays or contractor delays.  When both parties are responsible for a percentage of a delay period (e.g., 100 days delay; Government caused 45% of the delay; contractor caused 55%, etc.), prorate the number of days to obtain number of compensable days.  If it can't be determined

which party is responsible for the delay, an uncompensable time extension would normally be due.
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